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111| EZE &#X 3 |BERSEFER BE 12.400 13.400 12.133 14.000 13.233 9.500 74.666

112|F#= 5 2 | BERSEFER BE 12.733 12.500 11.233 12.800 12.300 12.233 73.799

113|/vR B% 2 | BERSEFER BE 13.000 12.600 11.800 12.166 11.533 12.500 73.599

31 | 114|B#F) =R 3 |BERSEFER BE 13.533 11.700 12.066 13.200 12.333 12.000 74.832

F—LBR(EM3AE) 39.266 38.500 35.999 40.000 37.866 36.733| 228.364

117| B+ BEA 1|77 —/R2EEEEER BE 13.400 12.366 12.033 13.300 12.200 12.200 75.499

118| &k K 3 |BERSEFFER BE 11.866 11.900 12.000 12.666 12.300 11.333 72.065

381(52MH 3 |HEEFER iR 10.033 10.500 13.133 13.933 12.766 11.333 71.698

382 (#45 B 2 |HEESFEER iR 12.466 12.166 10.733 11.233 10.600 12.500 69.698

383 |tk B 3 |HEEFER iR 12.933 11.333 11.866 12.700 12.566 11.533 72.931

32 | 384|iEER ¥REN 3 |HEEFER iR 12.400 9.366 11.500 12.900 11.433 11.233 68.832

F—LBR(EM3AE) 37.799 33.999 36.499 39.533 36.765 35.366| 219.961

387(KkH 1H& 1 |HEEFER g 11.533 12.100 9.033 12.766 11.533 10.833 67.798

388(#E BEA 3 |HESFER g 12.233 12.500 11.033 12.366 11.833 12.000 71.965

A11 (N1 E 3 |EBRIBEIESEFRR &8 12.300 10.800 11.733 12.966 12.533 9.433 69.765

A12[NER & 2 |EBRIBEIESEFRR &8 12.933 12.200 9.966 13.500 12.400 12.133 73.132

41330 BEX 2 |EBRIBEIESEFRR &8 12.800 9.666 11.600 13.366 13.266 10.100 70.798

33 | 414|ME K2 3 |EBRIBEIESEFRR &8 13.033 11.466 12.433 13.166 12.266 12.333 74.697

F—LBR(EM3AE) 38.766 34.466 35.766 40.032 38.199 34.566| 221.795

417 (188 Kits 2 |fEBRIBEIESEFRR &8 0.000 10.100 11.966 10.900 11.733 11.233 55.932

418(%5 1l X 3 |EBRIBEIESEFRR &8 12.300 9.066 11.900 12.633 12.533 11.633 70.065

281 |fhHME EA 3 | RERIMIEREESFFR KE 12.100 10.433 11.066 13.400 11.466 11.133 69.598

282 [#HA i 3 | RERIMIERAESFRIR KE 12.700 12.600 12.166 13.900 11.433 11.900 74.699

283|RA —FE 3 | RERIMIERAESFRER RE 11.300 11.633 11.533 12.600 12.233 10.933 70.232

34 | 284t B2 2 |RERMIERAESFRER RE 11.900 10.866 10.166 12.566 10.433 10.666 66.597

F—LBR(LM3AE) 36.700 35.099 34.765 39.900 35.132 33.966| 215.562

287(&4 AKX 3 | BT F 2R RE 13.000 10.300 10.833 13.166 10.966 10.066 68.331

288 (LA K& 2 |l R F 2R RE 11.600 9.900 11.366 12.633 12.366 10.733 68.598

51(%ith dEK 2 |REARIZEREFER FKE 11.133 10.300 9.700 12.600 9.900 10.833 64.466

52| hngk 558 1 |RERIERSERR FKE 11.800 0.000 0.000 0.000 0.000 2.933 14.733

53| £k EARR 1 |RERIERSERR FKE 11.000 8.133 8.366 10.400 10.166 9.366 57.431

35 54t &} 1 |RERIERSERR FKE 10.500 7.333 8.433 10.600 8.833 8.766 54.465

F—LBR(EM3AE) 33.933 25.766 26.499 33.600 28.899 28.965| 177.662

57|#AK EFI 2 |REARIZEREFER FKE 10.766 8.533 8.266 10.900 10.333 4.300 53.098

58 | &k BA 1 |RERIMBIESFER FKE 9.666 7.633 8.700 10.833 5.066 8.600 50.498

241 |1EH ER 3 [BESEFER = 12.033 12.000 11.066 12.766 12.333 11.333 71.531

282|508 EF 2 |BESEFER = 12.200 9.066 11.800 13.600 12.400 11.500 70.566

243|&% =8 2 |BESEFER = 11.666 10.833 11.466 13.133 11.400 12.700 71.198

36 | 244|EMA & 1 |BEEEER = 12.066 10.266 11.066 11.700 12.033 11.166 68.297

F—LBR(EM3AE) 36.299 33.099 34.332 39.499 36.766 35.533| 215.528

247(E A\ BIAEA 1 |BEEEER ==E 12.066 8.100 10.233 10.833 6.233 10.866 58.331

248(# kB8 1 |BEEEER ==E 11.633 6.666 11.233 11.000 10.800 10.800 62.132
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